

MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

NOTICE

Tender Notice: MAKAUT-WB/24-25/Civil Work/ES-005

Date: 20.06.2024

Notice for inviting quotations Civil Works from the different vendors for Harnighata campus of the University. Important Dates:

Sl. No.	Particulars	Publishing date(s)
1.	Date of N.I.T. and Tender Documents (Starting)	20.06.2024
2.	Bid Submission Starting Date	20.06.2024
3.	Bid Submission Closing Date (online)	08.07.2024
4.	Technical & Financial Bid Opening Date	09.07.2024

TECHNICAL SPECIFICATIONS OF THE ITEM

Sl. No.	Item	Description
1	Civil Work	FACELIFT OF ADJOINING AREA OF VIVEKANANDA HALL FOLLOWING ADMISSION 2024, MAKAUT, HARINGHATA CAMPUS, NADIA, WB Estimate No: UW-C-MAKAUT-WB/ENGG-50/2023-24 (Detail B.O.Q. attached- Page-2)

General Conditions:

- 1. The Bidder should be a registered firm under prevailing rules having an office in West Bengal, preferably in Kolkata and will provide essential registration numbers like TIN, GST, PAN/TAN etc.
- 2. The University reserves the right to accept or reject any tender without showing any reason.
- 3. Venders should be submitted the following tender documents, otherwise the Tender are to be treated as incomplete Tender. Incomplete Tender will summarily be rejected.
- 4. Subcontracting in any form will not be allowed by the University.
- 5. Defect Liability period shall be provided for 12 Months after completion of the work.
- 6. Deduction of 10% Security deposit shall be treated as per rules.
- 7. All legal disputes shall be subject to the jurisdiction of Calcutta High Court.
- 8. Sealed quotation to be submitted/ delivered into TENDER Box of Engineering Section, within 16:00 hours on **08**th **July, 2024** at the address mentioned below,
 - "Maulana Abul Kalam Azad University of Technology, West Bengal, Ward No.08, Post Simhat, PS- Haringhata, Nadia 741249."
- 9. Any dispute which may arise between the parties hereto in respect of this AGREEMENT shall be referred to the Vice Chancellor of the University whose decision shall be final and irrevocable.

I. Cover containing the following documents:

Sl. No.	Category	Sub-Category	Sub-Category Description			
A.	Certificates	Certificates	1. Trade License (Latest)			
			2. PAN Card			
			3. GST Registration Certificate			
			4. Professional Tax Registration Certificate			
			5. Others (as available)			

Registrar, MAKAUT, W.B.



MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

ESTIMATE FOR FACELIFT OF ADJOINING AREA OF VIVEKANANDA HALL FOLLOWING ADMISSION 2024, MAKAUT, HARINGHATA CAMPUS, NADIA, WB

BILL OF QUANTITY

		PART - A					
Sl. No.	WB. PWD. SOR Ref.	Item Description	Unit.	Qty.	Rate		Amount (Rs.)
1	P-1; It1	Surface Dressing of the ground in any kind of soil including removing vegetation inequalities not exceeding 15 cm depth and disposal of the rubbish within a lead upto 75 m as directed.	Sq.m	20.8	10	₹	207.50
2	P-1; It2	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m as directed. The item includes necessary trimming the sides of trenches, leveling, dressing and ramming the bottom, bailing out water as required complete. a) Depth of excavation not exceeding 1,500 mm. F1(850X850)		5.06	119.27	₹	603.21
3	P-1; It3	Earth work in filling in foundation trenches or plinth with good earth, in layers not exceeding 150 mm. including watering and ramming etc.layer by layer complete. (Payment to be made on the basis of measurement of finished quantity of work) (a) With earth obtained from excavation of foundation.	Cum.	1.01	77.54	₹	78.32
4	P-14; It1(3rd Corrigenda, P-1; It1)	Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.	Sq.m	3.03	361	₹	1,093.83
5	P-34; It22 (3rd Corrigenda, P-17;It 45)	(I) Cement concrete with graded stone ballast (40 mm size excluding shuttering) A) Pakur Variety (b) 1:4:8 proportion	Cum.	0.23	5,094.00	₹	1,171.62
6	P-24; It4 (3rd Corrigenda, P-10;It 27)	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement,if any, in ground floor as per relevant IS codes.a) Pakur Variety	Cu.M.	0.96	4,060.00	₹	3,897.60
7	P-189; It1 (3rd Corrigenda, P-49; It 1)	Plastering (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and ranking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface] [NB: No extra payment will be made for lift & lead etc.] b) 15 mm thick (1:4) plaster (on internal surface) i) Above ground in superstructure	Sq.m	0.96	167	₹	160.32
8	P-192; It15	Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc. NOTE: Cement 0.152 cu.m per100 sq.m.	Sq.m	0.96	34	₹	32.64
9	P-219; It1 (3rd Corrigenda, P-59; It 1)	Fixing post of iron or precast concrete by digging hole in the ground (in all sorts of soil) and embedding the same by packing the hole with cement concrete (1:3:6) (with jhama khoa. For Purulia, Bankura and Darjeeling Hill by Pakur Variety, Local Black Hard Stone & Bazree respectively) and finishing the top surface to regular shape (as directed) with 15 cm cement plaster (1:6) complete, including the cost of concrete, plaster etc.but excluding the cost of the post: (ii) Average dia. of the hole 300 mm. to 400 mm. (a) Depth 450 mm. to 500 mm. (Cement- 1435 Kg/No.)	Each	10	310	₹	3,100.00
10	P-219; It2	(a) Supplying, fitting galvanised 3 ply 12 gauge / 4 points line of barbed wire in fencing (holes already made in the body of the post) or fixed by staples tightening and fixing the wires in taut condition with straining bolts including the cost of cutting and of lapping joints in the wire as necessary but excluding the cost of galvanised staples, straining bolt and binding wire where necessary. (Payment to be made on the length of individual lines of wire.)	Mtr.	164	27.68	₹	4,539.52
11	P-220; It3(b)	Labour for fitting wove wire or similar fencing net tightening and fixing the same to post with staples at every bar (including the cost of cutting and lapping joints in the net, the cost of staples, binding wire etc. and of labour for fixing such staples as necessary. (Payment to be made on the length of net in finished work.) (b) Net above 1350 mm. height	Mtr.	164	12.42	₹	2,036.88



MAULANA ABUL KALAM AZAD UNIVERSITY OF TECHNOLOGY, WEST BENGAL

(Formerly, WEST BENGAL UNIVERSITY OF TECHNOLOGY)

Main Campus: Haringhata, Nadia, West Bengal

Kolkata Office: BF-142, Sector -I, Salt Lake City, Kolkata -700 064

Phone: +91 33 2321-0731, 2321-1327 # Fax: +91 33 2321-7578, 2334-1034

Website: www.makautwb.ac.in

PAN: AAAJW0063D # GSTIN: 19AAAJW0063D1Z9 # TAN: CALW02602F

Total of Part A						₹	42,086.54
15	P-200; It2(A)	brand including smoothening surface by sand papering etc. including using of approved putty etc. on the surface, if necessary: (b) On steel or other metal surface: (iv) Two coats (with any shade except white)	Sq.M	14.9	79	₹	1,180.26
14	P-200; It1(a)	(a) Priming one coat on steel or other metal surface with synthetic oil bound primer of approved quality including smoothening surfaces by sand papering etc. (A) Painting with best quality synthetic enamel paint of approved make and	Sq.M	14.9	29	₹	433.26
13	P-104; It13(b) (I)	(b) Extra for work in grill gate. (I) For hanging and locking arrangements including supply of materials and labour complete. (15% extra over the corresponding item of grill)	Qntl	0.26	11,150.40	₹	2,899.10
12	P-104; It13(3rd Corrigenda, P-91; It 10)	M.S. Ornamental grill of approved design joints continuously welded with M.S. Flats and bars of railing etc. fitted and fixed with necessary screws and lugs in found floor.(Grill weighing above 16 Kg/sqm and above.) (The weight of grill per sq.m. will be determined by taking the physical weight of fabricated grill and dividing the same by covered area of the same.) N.BNo shop priming will be allowed to facilitate inspection of workmanship. Weight of grill is to be taken after final grinding and finishing the weld. For Veranda along Vivekananda Hall	Qntl	2.13	9,696.00	₹	20,652.48

PART - B: FITTINGS AND FIXING WORK OF STAINLESS STEEL DISPLAY BOARD IN FRONT OF VIVEKANANDA HALL (3 ft. X 4ft.)

Sl. No. WB. PWD. SOR Ref. Item Description		Item Description	Unit.	Qty.	Rate		Amount (Rs.)
16	Page No-1,Item No-2	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including ixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm.	Cum	0.09	119.27	₹	10.73
17	Page No-34,Item No- 22 (I)(3rd Corrigenda, P-17;It45)	Cement concrete with graded stone ballast (40 mm size excluding shuttering) In ground floor (A) [Pakur Variety] (a) 1:3:6 proportion	Sq.M	0.09	5,376.00	₹	483.84
18	Code no-5050 Vol-1 Schedule rates of DSR 2021	SS pipe 304 grades with press fit technology as per JIS 3448 Standard 48.60 mm outer dia	Mtr.	6	680	₹	4,080.00
19	Code no-2393 Schedule rates of DSR 2021	1 mm thick Stainless Steel Cover plate grade 304	Kg	1.08	286	₹	308.88
20	Code no-4001 Schedule rates of DSR 2021	Stainless steel (Grade-304) hollow section round/square tubes a) Square Hollow Bar size 20mm x20mm (304S11/S31)-2.18Kg/mtr.	Kg	15.3	230	₹	3,509.80
		Total of Part B				₹	8,393.25
		Grand Total (Part A + Part B)				₹	50,479.79
		Round off				₹	50,480.00

FORMAT FOR QUOTATION SUBMISSION

(In Letterhead of the Contractor with seal)

Tender Notice : MAKAUT-WB/24-25/Civil Work/ES-005

Tender Date : 20.06.2024

Estimate No : UW-C-MAKAUT-WB/ENGG-50/2023-24

To,

The Registrar,

Maulana Abul Kalam Azad University of Technology, West Bengal,

Ward No.08, Post Simhat, PS- Haringhata, Nadia – 741249

Sl. No.	Description of Works	Estimated Basic Cost (Excluding all)	% above/ below/ at per	Quoted Cost		licable GST (B)	LWC (C)		
			-	(A)	%	In figures	%	In figures	
1	Facelift of adjoining area of Vivekananda Hall Following Admission 2024, MAKAUT, Haringhata Campus, Nadia, WB as per B.O.Q.	50480/-					1%		
	Total Cost								
	Gross Total Cost (A+B+C)								

Note: Va	alue put to tender is Rs/- (Excluding GST & LWC)
Underta	king:
1.	I agreed to execute the work at% (In Words%) above/
	below/ at per of the Estimated Cost.
2.	We agree to execute the above work in accordance with the technical specifications for a total contract price of
	Rs (Amount in figures) (Rupees ———amount in words) within the period
	specified in the Notice Invitation for Quotations.
3.	Financial selection will be done base on the lowest quoted cost (A).
4.	We confirm that the normal commercial warranty/ guarantee ofmonths shall apply to the
	offered works and we also confirm to agree with terms and conditions as mentioned in the Notice Inviting Tender.
5.	All pages have been singed in token of acceptance of the same.
Seal &	Signature of Supplier
Name:	
	S:
	No:
	:
PAN: _	
P.Tax R	Registration No. (If any):